Comparing Ratios

Problems from Video

Problem 1: A 6-pack of root beer costs $3.67, a 12-pack costs $4.00, and a 24-pack costs
$5.99. Which package of root beer is the best buy?

Problem 2: A 14 oz. box of cereal costs $2.78, and the 18 oz. box costs $3.06. Which box
of cereal is the better buy?

Problem 3: A 24 oz. bottle of ketchup costs $2.09, a 32 oz. bottle costs $2.39, and a 64 oz.
bottle costs $4.99. Which bottle of ketchup is the best buy?

o o
©2009 UNIVERSITY OF NORTHERN IOWA MOklngSznsz




